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CBT Practice test model answers

Costs and Revenues (CRS)

Practice assessment 3
Section 1

Task 1.1

[image: image2.png](a) Identify the inventory issue method being used for valuing issues of this lubricant.

The [avco

inventory issue method is being used.

(b) Complete the remaining entries in the inventory record using this method (cost per ltre entries should

be in pounds to 4 decimal places).

Inventory record for lubricant FL7

Receipts Issues Balance
Date Costper | Total | Quantly | Costper | Total Total
iire ©) | cost(e) | lres | live ) | cost(e) cost(8)

lBatance as at
1 December 1200 1680
/e December 2000 3000 3200 4680
16 December 1a40| 14525 2108 1760|2574
22 Decomber | 2000 3088 3780
130 December 2200 3300 2340





Task 1.2
[image: image3.png]Complete the Journal below to show how the payroll payment for the week would be recorded and how
this would then be transferred from the wages control account for:

(a) the total payroll payments for the week
(b) the payments to direct employees.
(c) the payments to indirect employees.

(d) the payments for maintenance administration

Parttask Date or
@ 123 December 5000 108240

@ 123 December 4000 108240
©) 123 December 9200

©) 123 December 5000

@ 123 December 9400 34320

@ 123 December 5000 34320
©) 123 December 9600 18480

©) 123 December 18480





Task 1.3

[image: image4.png]IMonday s 7
[Tuesaay s s
|Wednesday 9 1
[Thurscay 9 1
[Friday s 7

‘The mechanicis paid £16 per standard hour produced.

Complete the sentences below by entering the correct figures into the text.

‘The mechanic’s total pay for the week was £

Now assume that the company offers a guaranteed minimum daily payment of £110.

‘The mechanic's total pay for the week would now be £

Now assume that, instead of a guaranteed daily payment, the company offers a guaranteed minimum

‘weekly payment of £620.

‘The mechanic's total pay for the week would now be £

Now assume that, instead of a guaranteed daily payment, the company offers a guaranteed minimum

‘weekly payment of £680.

‘The mechanic's total pay for the week would now be £

660

570

660

E






Task 1.4
[image: image5.png][Depreciation charge
lfor buses

Basis of
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(Carmying amount of buses
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221100
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80400
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59740
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25360
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265200
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736600
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280

133

040

204800

399400

[Reapportion Vehicle
IMaintenance and
[Repairs

380228

166812

[Reapportion Fuel
land Parts Stores.

133120

71680

204800
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(General
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Task 1.5

[image: image6.png](a) What would be the budgeted overhead absorption rate for the Scheduled Services profit centre,
based on the most suitable method of recovering overheads?

0/mile.

£80mour

£120/mile.

£160mour

(b) What would be the budgeted overhead absorption rate for the Viehicle Maintenance cost centre,
based on the most suitable method of recovering overheads?

0/mile.

£80mour

£120/mile.

£160mour





Task 1.5, continued
[image: image7.png]() Assuming that exactly the same amount of overheads was absorbed as budgeted, what were the
budgeted under or over absorptions in the period?

‘Scheduled Senvices under absorbed £50,000; Vehicle Maintenance under absorbed £25,000

‘Scheduled Senvices over absorbed £50,000; Vehicle Maintenance over absorbed £25,000

‘Scheduled Senvices under absorbed £50,000; Vehicle Maintenance over absorbed £25,000

‘Scheduled Senvices over absorbed £50,000; Vehicle Maintenance under absorbed £25,000





Section 2

Task 2.1

[image: image8.png]A The sales revenue per mile if the contract s for 40,000 miles.
8. The variable cost per mile fthe contract s for 40,000 miles
C. The fixed cost per mile ifthe coniract s for 50,000 miles.

D. The total cost per mile ifthe coniract s for 50,000 miles.
E.The profit per mile fthe contract s for 50,000 miles

Drag and drop choi

A £7.00
2045

s

< 2176
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Task 2.2

[image: image9.png]Use the table below to calculate the required number of miles for this contract to achieve its target profit.
Enter contribution per mile to two decimal places.

[Fixed costs 150000
[Target profit 42500
[Fixed cost and target profit 192500
|sales revenue 350000
|Variable costs 140000
|contribution 210000
|contribution per mile 35
|Required number of miles to achieve target profit 55000





Task 2.3
[image: image10.png]Complete the table below to two decimal places and enter zeros where appropriate, to recommend which
route(s) should be operated next week to maximise profits.

Scheduled route RT16 RT17 RT18 Total
[Contribution per mile (£) 20 2| 19
[Contribution per maintenance hour (£) 2000 1800 1700
[Route ranking 1 2| 3|
[Maintenance hours available 74|
[Maintenance hours allocated o each route. 34| 40 0
INumber of miles to arive in the route: 3400 3272| 0
[Total contribution eamed £) 68000 71984] 0 139934|
lLess: ixea costs £) 132800)
[Profittoss made ) 7134)






Task 2.4

[image: image11.png]Complete the table below to show a flexed budget and the resulting variances against this budget for the
‘quarter. Show the actual variance amount, for sales and each cost, in the column headed ‘Variance'.
Adverse variances must be denoted with a minus sign and zeroes must be used where appropriate to
gain the marks. Do not use brackets. Round to whole £°5 throughout.

B
budget

|Miles travelled

lsates revenue 338000 247.000 2000
IDiesel fuel 68280 70630 2250
|faniable 156780 151530 5250

|Drivers' wages

[Fixed overheads 70800 70800 0

[Proftirom

loperations 42040 54,040 12000





Task 2.5
[image: image12.png]The net present value of Model L1

Year0 Year1 Year2 Year3
€000 £000  £000  £000
(Capital expenditure / Disposal proceeds 880 220
[Revenue ase|  o2e] 104
(operating costs 52
et cash flows 0| 22| 209 o9
PPV ractors 10000 | 08772 | 07695 | 0.6750
Iiscounted cash flows 0| 2s2| 23| e
et present value
The net present value of Model L2
Year0 Year1 Year2 Year3
€000 £000  £000  £000
(Capital expenditure / Disposal proceeds 760 190)
[Revenue a0 o3| 1034
(operating costs 510
et cash flows 70| 2ea| a2
PPV ractors 10000 | 08772 | 07685
Iiscounted cash flows 760|249
et present value 04|





�Total contribution earned





In this task the ‘Total contribution figure’ for RT17 may also be entered as 72,000 as per the table given in the task. Please note that if using this approach the ‘Total’ column would also need to be updated accordingly.� �This approach is considered equally valid as that shown in the model answer above.
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